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ERE | AR LT RET253% 249,000 JEKIJ.I LT ARET1 TH283%F 14+ 139,000
29% | 5—1 [chET11—4] (25 | 5—11 | I KET1—4—2] (2.2)
ERE | AR LT RET253% 255,000 JEKIJ.I LT AET1 TH283% 14+ 142,000
30 | 5—1 [chET11—4] 24| 5—11 | KET1—4—2] (2.2)
<F | Al EILUTHHET253F 260,000 | ERLL ZILTHKET1 T H283&F 144 145,000
JTE | 5—1 [hET11—4] 20| 5—11 | TKET1—4—2] (2.1)
<F0 | Al EILUTHHET253F 254,000 | 8L ZILTHKET1 T H283&F 144 141,000
2% | 5—1 [chET11—4] (A23)| 5—11 | TKET1—4—2] (A2.38)
< | & EILUTHHET253F 247,000 | 25 fREMXRET62F1 134,000
3% | 5—1 [chET11—4] (A28) | 5—7 [E[2—12] (3.1)
SN ZILTHKET1 T H283& 144 134,000
5—11 | TKET1—4—2] (A5.0)
< | & EILUTHHET253F 245000 | 25 fREMXRET62%F1 138,000
4% | 5—1 | [chET11—4] (A08) | 5—7 | I3ET2—12] (3.0)
< | & EILUTHHET253F 258,000 | {25 fREMXRET62%F1 143,000
54 | 5—1 [chET11—4] (53) | 5—7 [ET2—12] (3.6)
<F | & LT RET253% 280,000 | ERLL LT RET1 TH283%F 14+ 152,000
6% [5—1 | THhET11—4] (85) [ 5—11 | TKET1—4—2] (7.8)
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F17FR  ABIFEEME LR EE

=4 B | EHEAR| mEm | Th | SRBH | b &
5 13 37 11 121 121
(YA 46 2 10 66 4 70
W
T 108 4 22 136 138
A&t 227 69 21 323 6 329
5 10 1 14 14
- {EyA 22 4 4 30 10 40
ESE
Ti% 113 24 1 138 1 139
A&t 145 31 6 182 11 193
5 83 40 12 135 135
) R 68 2 14 12 96 14 110
RE
% 221 4 46 3 274 3 271
A&t 372 6 100 27 205 17 922
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